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Q.1 A transformer has a turns ratio, 
𝐍𝐬

𝐍𝐩
 = 𝟒. If a 𝟐𝟎𝟎 𝐕 𝐀𝐂 voltage is applied across its primary coil, and it 

carries 𝟏 𝐀 current, find current in the circuit connected to the secondary coil if the transformer is 

𝟖𝟎% efficient. 

 
(A)0.2 A (B)0.4 A (C)0.8 A (D)2 A 

 

Q.2 In an LC oscillator circuit, 𝐋 = 𝟏𝟎 𝐦𝐇,  𝐂 = 𝟒𝟎 𝛍𝐅. At 𝐭 = 𝟎, the capacitor is fully charged with 

𝐪𝟎 = 𝟒 𝛍𝐂. Find the current in the circuit, when the capacitor and inductor share energies equally. 

(A)0.2 Ma (B)4.5 mA (C)0.3 mA (D)2.2 Ma 

 

Q.3 In the circuit shown below, the switch is connected to position 𝟏 for a very long time. What is the 

maximum current flowing through the circuit, when the switch is taken to position𝟐? 

 
(A)1.5 A (B)2.5 A (C)3.5 A (D)4.5 A 

 

Q.4 The electrical energy across the capacitor in the LC circuit, oscillates with an angular frequency of – 

𝐋 Is the inductance and 𝐂 is the capacitance 

(A)
2

 LC
 (B)

1

 LC
 (C) LC (D)2 LC 

 

Q.5 A capacitor of capacitance, 𝐂 = 𝟐𝟓 𝛍𝐅 is fully charged to 𝟑𝟎𝟎 𝐕. It is then connected across a𝟏𝟎 𝐦𝐇 

inductor. The resistance in the circuit is negligible. Find the frequency of oscillation of the current in 

the circuit. 

(A)220 Hz (B)270 Hz (C)318 Hz (D)412 Hz 

 

Q.6 A capacitor of capacitance, 𝐂 = 𝟐𝟓 𝛍𝐅 is fully charged to 𝟑𝟎𝟎 𝐕. It is then connected across a 𝟏𝟎 𝐦𝐇 

inductor at 𝐭 = 𝟎. The resistance in the circuit is negligible. Find the energy stored in the capacitor at 

𝐭 =
𝛑

𝟑𝛚
 𝐬, where 𝛚 is the angular frequency. 

(A)0.9 J (B)0.7 J (C)0.5 J (D)0.3 J 

 

Q.7 In the LC circuit shown below, 𝐂 = 𝟏 𝛍𝐅. When the capacitor is fully charged up to 𝟏𝟎𝟎 𝐕, the switch 

𝐒 is closed at 𝐭 = 𝟎. The current in the circuit oscillates at a frequency of 𝟏𝟎𝟑 𝐇𝐳. The value of 𝐋 will 

be approximately equal to. 

Take 𝛑𝟐 ≈ 𝟏𝟎 
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(A)0.025 H (B)0.015 H (C)0.045 H (D)0.085 H 

 

Q.8 For the LC circuit, whose graph of charge  𝐪  on capacitor versus time  𝐭  is shown in the figure.The 

frequency of oscillations of charge is – 

 

(A)0.425 Hz (B)0.325 Hz (C)0.225 Hz (D)0.125 Hz 

 

Q.9 A capacitor of capacitance, 𝐂 = 𝟐𝟓 𝛍𝐅 is fully charged and then connected with an inductor of 

inductance, 𝐋 = 𝟏𝟎 𝐦𝐇. The ratio of magnitude of maximum charge on the capacitor to the 

maximum current through the circuit, is - 

Assume ideal conditions 

(A)1: 2000 (B)2000: 1 (C)1: 1000 (D)1000: 1 

 

Q.10 The capacitor of an oscillatory LC circuit is enclosed in a container. When the container is empty, the 

frequency is 𝟏𝟎 𝐤𝐇𝐳. When the container is filled with a gas, the frequency changes by 𝟓𝟎 𝐇𝐳. The 

dielectric constant of the gas is - 

(A)2.01 (B)1.01 (C)3.01 (D)5.01 

 

 

 

 

 

ANSWER KEY 

 

Q. 1 2 3 4 5 6 7 8 9 10 

Sol. (A) (B) (A) (A) (C) (D) (A) (D) (A) (B) 

 

 

 


